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_‘Lt'lgl/‘-’./. ..................... Graph Ul Z}'f“/ velocity of object £1L-<_ Time

velocity - time graph (B) velocity - speed graph (A)

velocity displacement graph (D) speed - time graph (C)

-‘Lt'lg.lz} ................ :_,b:/’d/ slopeJJ I average acceleration 5()'011» Time Interval 't’

velocity - time graph (B) velocity - speed graph (A)

velocity displacement graph (D) speed - time graph (C)

_‘Lt'lg[/‘-’./. ................. acceleration of body /s ” k}«fr

instantaneous velocity (B) instantaneous accleration (A)

instantaneous speed (D) instantaneous displacement (C)

_tfy/é lﬁuﬁdtf ......................... Newton's laws of motion

1987 (D) 1887 (C) 1787 (B) 1687 (A)

S magnitude of displacement Kf“){ (jl}.la ﬁ/;f $s7

total distance (D) circle (C) curved line (B) straight line (A)

-‘LL“lglfl/ ................... flow of charges =~ Electrons

electronic current (B) current (A)

photonic current (D) conventional current (C)

O L Power of battery < Resistor

Power dissipation (B) Power consumption (A)

Bothaand b (D) Power resistance (C)

-‘Lt’lg@;u: KP - Electric Voltage <Temperature

None of the above (D) Thermistor (C) Resistor (B) Rheostat (A)
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-‘Lt'lgtlg/?/)}’é ................. Wire wound variable resistance

Rheostat (D) Diode (C) Resistor (B) Capacitor (A)
..... efficiecy JJK_‘L &/ 7507 output sl L"/JL’;“ I total energy 2500 J /K.g
80% (D) 25% (C) 30% (B) 50% (A)

SI Unit d/ Density

g m” (D) Kg m” (C) g cm” (B) Kg cm” (A)
_ugL)/ffy;’Vﬁ ............. S quantities ﬂcéijfd,)vnﬁuf gem™ S Kgm® 2 Density
1000 (D) 200 (C) 10 (B) 100 (A)

density §U - 21 11040 kg mass KJE

108x10° (D) 92kgm™ () 920kgm” (B 92kgm™ (a)
< measure € s Mass

Matter (D) Friction (C) Inertia (B) Weight (A)
_‘Ltgguy./?yé ............... Density of a distance

its mass per unit area (B) its mass per unit volume (A)

its weight per unit volume (D) its volume per unit mass (C)

rest mass energy d/ Electron

2.02 McV (D) 0.511 MeV (C) 0.511 KeV (B) 1.02 MeV (A)

frequency of incident uﬁé‘_&’AL threshold frequency%}“L‘O’ K.Emax J photoelectrons v
s photon

(Small) t£ (D) (Greater) »5LJ (C) (Equal) £z (B) (Less) f/ (A)

Mass 7 700N L_tvz2 5 Z T4 6= 66 km/h

Zero (D) Infinite (C) 100 kg (B) 70 kg (A)
< frame ..., reference £ inertial frame .,g
in which law of inertia is valid (B) in which first law of motion (A)

both A and B (D) which is not moving with uniform velocity (C)

ii coated oxidized silver cathode units electrons U« Photocell casium

x-rays (D) infrared light (C) ultra violet (B) visible light (A)
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......... Power output q‘%wz U* 4S stairs 5m ($76 30 kg ug/l

397.5w (D) 370w (C) 36w (B) 367.5w (A)
_‘LL“lngQ/)’L ................ mid-point u.lfwﬁ principle axis »#/ Lens surface
focal center (B) Midway center (A)

optical center (D) focol point (C)

........ accleration JJ "‘chlﬁfj L force 100N 676 mass 50 kg .,g

2ms’ (D) 50ms?  (C) S0ms’l  (B) 5000 ms™* (A)
e input JJ l.«~ 50% efficiency ./ 4500J output L}/ truck vgl
500J (D) 9000J (C) 900J (B) 5000J (A)

powerstation (Jl-< L“n/-’{/./?ubé thermal energy energy input 70% (= Power station .,g

.................. efficiency L}/

1 (D) 0.7 (C) 0.4 (B) 0.3 (A)

- “&/? ................. The nucleus of an atom

Electrons and protons (B) Electrons and neutrons (A)

All of the above (D) Protons and newtons (C)
(Chemistry) ;.lfo:.(

et M E— number of moles of a salute I_ls& s2+°U solvent £ 1 kg

Formality (D) Normality (C) Molarity (B) Molality (A)

RPN, electro negative element sslje oy J.. 3

Oxygen (D) Fluorine (C) Bromine (B) Sodium (A)

metal U';L/U" by Copper « Solution g Copper Sulphate

Fe (D) Hg (C) Ag (B) Na (A)
_‘LJ.:‘://.’/.C’_, ............. ;Lu:"d/ d-electrons U~ Fe*' (z=26)
S-electrons in Mg (z=12) (B) P-electrons in Ne (z=10) (A)

P-electrons in Cl (z=17) (D) d-electrons in Fe (z=26) (C)
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_‘Lt'leb( .................. metallurgical process U'JL/U" bf metal ~ Fused state
Froth Floatotion (D) Colcinations (C) Roasting (B) Smelting (A)

?‘LD)LJ speed J molecules d/ gas cu:(
CH, at 300K (B) Hyat=7T3"c  (p)

O, at 0“C (D) N,at—-1027°C (C)

AT L YUJEIU2 Froth Floatotion Process

Pine Oil (D) Kerosene Oil (C) Olive Oil (B) Coconut Oil (A)
"The amount of gas dissolved in a liquid is proportional to its partial pressure"”
law UULL;L[

Gay Lussac's law (B) Dalton's law (A)

Raoult's law (D) Henry's law (C)

Buffer System o’}'}d/uf[}u'l

HCO,—co.  (B) H,CO,—HCO, (A

NH,CONH, — NH,CONH* (D) CH,COOH —CH,COO™ ()

radiation frlzlu’)/;l‘a &/ filter # ultra violet light d/ s gas db'laﬂﬁf‘uﬁ Stratosphere

_‘al:’z;/';lf;fdlm"dﬂﬁ damage

Methane (D) oxygen (C) ozone (B) helium (A)
NPT bleaching agent U';L/Jl.’p ol e o

Sodium Chlorine (D) Chlorine (C) Carbon dioxide (B) Alcohol (A)
- “"4 .............. The nucleus of a hydrogen atom

1 proton + 2 neutron (B) 1 proton only (A)

1 electron only (D) 1 neutron only (C)

-‘gt’lngJ/ ........... heat .,)u”gLLw‘/. 1k & temperature ﬁ(y

Thermal Capacity (B) Specific Heat (A)

None of the above (D) Water Equivalent (C)

nuclear particles L';é//}.gj lfbg[ Nucleons
Mesons (D) Neutrons (C) Positrons (B) Electrons (A)
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............. mass §P,0,, UI}L%&KJJEL reaction £ 5.07 gr. oxygen »/ 1.33 gram P4

5.05 gram (D) 4.05 gram (C) 3.05 gram (B) 2.05 gram (A)
_‘Lt'lgyjﬁ"é}r ............... The octance number of zero

n - heptane (B) 2-Methyl Octane (A)

3-methy octane (D) iso-octane (C)

metal UL UJEIle Catalyst U Hydrogenation

Pt (D) Cu (O) Pb (B) Ni (A)

obundant rare gas 0l or Ut P

Xe (D) Ar (C) Ne (B) He (A)

.fx.(c‘a o4 e Latin Word 1 Formic Acid _‘L(:Q?wlb/‘g Latin Word "formica"
this acid, in ancient times, was used to eliminate ant - hills (A)

this corrosive acid is secreted by ants to drive away their enemies (B)

this acid was first obtained by the distillation of ants (C)

ants are attracted by the odour of this acid (D)

................... ore b ]J/ d/ India

Magnetite (D) bauxite (C) fluorspar (B) Monozite (A)
- Lb?: control e— ....ccoevnee. inherited traits < organism .,g

nucleotides (B) RNA Molecules (A)

Enzymes (D) DNA Molecules (C)

................ heat energy dbLn/QL.}':‘LWU;f fot £ 1 gram ()/u';i’/l

29 kg (D) 39kg (O 1 kg (B) 30 kg (A)
_‘ad}yui' oxygen Z 16g % )U-;J molesZ €O,
0.25 mole (D) 0.4 mole (C) 0.2 mole (B) 0.5 mole (A)

el Je18 S d et Diet

make the taste of food better (A)
Produce in small amounts of hydrochloric acid required for the digestion of food (B)
Ease the process of cooking (C)

Increase the solubility of food particles in water (D)
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